


(i1) State whether the following statement is true
or false: : Py

O5 Sl A9 & Sy o=l e

- In inclusive classification the class limits and
the class boundaries of a class are the same.

e et Gl C=Tr e
ce:ﬁﬁéfﬁaﬁ&tﬁl , L

(iii) Which set of the following deciles are less

! than the first quartile ? . il
S (IFCHRD! TEIRHIT 2N s@-ﬁfas@ias 7 2
(@ D, and &%) D,

~ (b) D, and (W) D,
 (© D,. D, and (3% D,
(d) None of the above.
eoE dhle wE|

(1v) What is the dlfference between the standrad
- _deviations of the followmg two series ? 1

'Wﬁamwﬁ&ﬂn@am@ﬁsﬂm\
13,120,273, 47, and (‘511‘35)
4, 10, 17, 24, 32 30574 8 |
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(2) '

e : y i
o Selec}h correct answer
Al W ﬁ ?Iﬁi ‘ |
W 1 the two lines of regressmn are :
L1, COGEE ﬂmmct @l 'vz@ta =
e (nnmdent |
3
; i ?TI@‘
(b) Iatrallel ' ‘ : |
i) Ierpendicular'to» each other o
o ]\Ione of the above
‘goiEq @Bie = .
(vi) LOCl:b ut in-a factory fpr. at, ,n;?nat}ii I:\Z |
a;:;mwd with which componen 1
“ﬂm qwiz 4R oo amnai wﬁs\!

(vu) Sel1 ot the correct answer :

T A is an uncertam event
m experiment then

associated with.

ﬂﬁlﬁmfomm v o 7S =S P
afe® oAl COTRE |
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(8). P.(A) 3 @) 4
(b) O < P(A’") "!<*1
(c) 0 < P(A)

(d), None‘of the _above.

@]9 9bi8 wZF |

(viii) Fill in the blank :

E@X+b)=aE X +-
(ix) What are the pafametérs
probab111ty distribution ?
o mﬁm T 2o z%r ﬁs e
(x) Mention two contro‘l charts for va:iabl,_és. 5
BT RIS A feel e w1 B

2.- (a) Mention two ad\}antages of :sa'm'ple' sur"véy,-;

_over census survey. -

; B
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are tossed togethe

of binomial |

i WWﬁ@ﬁﬂmfﬁml

' (e) Defme null hypothesm
e am W@a‘tﬁm .
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~ in commerce.
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nswer any four parts of the follovwng

5><4—-20

Write a note on the 1mp0rtance of statlstlcs

,,,,,
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(b) In a certain class the average marks obtained;’
by 100 students in statistics was 72. The:

. average marks obtained by 70 | male students:
was 75. Determme the average marks. of the
female students. st o i k

i f

- @I @t T 100 S m-aﬁm SRl A
ﬁwr@cvnmmmnnowmicm 4

~ numbers.
" 'f.

(c) Of a certain distribution, the Karl Pearson's
co-efficient of skewness is 032, standard"
deviation is 65 and mean is 29° 6. Find the
mode and the median of the dlStI‘lbUthIl

: m@ﬁmmm@m@‘ﬁ\

032, amide Reew 65 S 2961

o e S Wl e =
28: 20 9# 48

8

(d) Deﬁne -random vanable In a busmes
. venture a .man can make a profit Q
Z 5,00,000 with a probability of 0°4 or can
make a loss of % 2,00,000 with a probabﬂlt
_of 0°6. Find his expected profit. )

WWWWWIWW@
B TIARTD &= TR 5,00,000 TF 7S T

 3iee

il

mﬁ@mct:rr“@zooooowcamm Ty
el 06, THREE F g{@ﬁ:ﬁ ﬁc(z[ 571 7&95/
oncen B © st o

‘of persons : o 6,1%.'

140704081

Wnte a note on. the usefulness of mdex“

l

- W\WWW@T cﬁaﬂﬁmﬂl

Explam the concept of standard erTor.
Mention the standard errors of some statlstxcs. ‘

- (a) Calculate mean and standat'df deviation for
- the following distribution : - ‘ :
w—ﬁma%aamﬂtmwwﬁwaﬁﬁ..“ I

| (in year) 2030 _30-40 40-50 5060
in year) : 60-70 70-80 80-90 .
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(b) Write a short note on - the 1mp01’tanée of
diagrams in statistics. ,

vﬁﬂ\mwm@wmﬁﬁ%wm
%{?m '

FOQd- C'l_oﬂling.'z' Fuél' House‘ Othe}s‘
=IT'7rI ; e

! , 1 -,150  ‘2gO:, S ‘ 'vf »

! S ey | v 180'. b
5. (a) Define Karl =~ Pearson's cOefficient : 300 i '21(‘)

correlation. Mention its range. 4 oG : i

For the followmg bivariate .data find the,-,
g regressmn equauon of Y on X: - 2+1+4=7 :

3
®

55.l R B |

it %WW@ CEuR] @m\aﬁ F<l ﬁ-*zm o - 10 =
s e 1 e . _-
‘QI \ A S b ¥ ‘,‘
©ed ' j .m°‘ 70
e %Wmmamxmeog—ygmm , _
- T fefa = '

Ca]CUlate COH : ¢ B
. 2005, Sumef price index number for
ol Y e 6 8 11 ot

: | 2005 W ”ft“f@f '
o 18- 12 10 8 7 5 W@ WW@W?TW

4WI

} \:-
i |

_ '('b) erte a note on the ut1hty Of mterpolatl Dls : “
: . . cuss - bneﬂy the components f
PenOds 0 tlme
: .6_

o0 T @9{{ 11@335(;[ o

o & : Eﬂ?ﬂi‘ wtz«*mm w,

6. (a) Indlces of groups of 1tems and their weigh
“ for the year 2005 (Base year 2000)

late the addltlve 1 ;
 given below © 2, Of PfObablhty for two

il tually exclusi
ive event
Bh :in example S and 1llustrate it

oers 2005, e T R AR (aADH P E e
i A (AT oIl R (™fe 'm“”"‘ﬂ fefers Wwﬂ@ﬁwm«q ol
o % IR b e T vy |
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(b)

: (-a)

_"mmwﬁ@ﬁﬂaammﬁw
‘2ﬁzn1

(b

S (Bemp)BUST D S 90

‘dlfferent posts. For the first post there aré
' 12 candidates, for the second there are 1%
" candidates and for the thn‘d there are g

-marrzrlswwwﬁmmmm
o ez AT e aﬁomc

~ Type-1Il error.
oo 2R EH S ﬁ@m L :r»f% wrf@

A Candldate is called for mterv1ew for thm":

What

are a %

variation i ssignable and chance cay

is manufacturing ses of
manufacmnn process ? When

candidates. Fmd the probabll'lty of his gettl A S'tatlsu(;al quah g process said to be unde
i r

at least one post ﬁﬁ:ﬁ Wgonnal 1 : 4+1 iy
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Mention the chief characteristics of no m 30 w2y s ?ﬁ g F12=5
probability ¢ distribution. : ' ; oy ReDy CoT O Srerg vnaﬁﬁ m,
hen "f%%w:g :BU

e L
Explam the concepts of Type—l error
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